HYDRAULIC SWING CLAMPS |

CLAMP-UNCLAMP CONFIRMATION

The drawing shows the unclamped state of CLHW-CRE

c L H W B :
Unclamp Port: G Thread H J
=
(Speed Control Valve Port) X
pee ontrol Valve Por @86X4 g 2_Z
I \{
A\ [\
NI\ N (R Type)
af REy
¥§L = [\ o2 \SA e
. I N N 2| | <«|__ Swing Direction
Air Sensing O B N T e e
fobo 9 :
Swing Clamp WS T8 /awe
T son
o Spot Facing ®
2-G Thread Plug(Included) HocsodetY) (Spot Facing ®Q)
Clamp Port: G Thread
(Speed Control Valve Port) PCC 60'05 Slot for Lever Phasing
R Type (L Type:180°Reverse)
FEATURES
The CLHW series utilizes air sensing mechanisms by detecting the
. . . . 9 . . Y . g Nut(Included) PAC (X Thread)
differential pressure to achieve action confirmation, allowing safe and
efficient loading/unloading of the workpiece. With the integration of the = ~ HT ]’H’/T gt
built-in sensor valves, the CLKW series has taken a new and improved 09 9?" =
. . . L . A om
compact design and is most suitable for achieving automation. SSs &l ;' T |'. <
|§- Taper Sleeve(Included) I : )
= it
!
15° S
Max. operating pressure : 70 kgf/cm? H-— L =N |
Min. operating pressure : 15 kgf/cm® < o l : ! : 7 " &
- L
1/ATIAST -1 5
C 0.1 AN
= : x| X
" Air Port for <DDa‘.0_2 ﬁ i
Clamp Confirmation / i =
NOTE g amp Confirmation s [
w / I
|
The speed of clamping and unclamping action needs to be slowed down : O-Ring (Included)DC
appropriately. Action confirmation can be conducted by detecting Air Port for ®D
. . . . N Unclamp Confirmation O—Ring (IncIuded)DD
differential pressure with the air sensor. Please keep clearance of the air ‘

exhaust hole to prevent the intrusion of coolant and chips. Make sure to
supply constant air pressure to the air port when in use.

Clamp Port
O-Ring (Included)DA
Nx
ORDERING INDICATION
Air Vent Port: O-Ri Incl DB =
CLHW-048CRE ir Vent Port: O-Ring (Included) R\
| D
1 ra|
CLHW  Series CLHW > &
048 . 040: PD=40mm 065: ®D=65mm . . LG -
Body size 048: PD=48mm 075: ®D=75mm Outer diameter (®D) of the cylinder > M\
055: ®D=55mm }fz
With G Thread Plug (able to attach Speed Control Valve, Unclamp Port “ \CD\
C Gasket Option(With G Thread Plug)  (Order the valve separately Recommended:CZL) O-Ring (Included)DA +7
R Swing Direction when Clamping NOTE
Sensing Valve E: CIamp-Unclémp F:onﬁrmation(Both) X1.The slot for lever phasing faces the port side when clamped.
E ing Yalv 13 (Eliinly e il wiilen G 7 X2 Mounting bolts are not provided . Please prepare them
J:Unclamp Confirmation Only according to the mounting height referring to dimension”S”.

3. Speed control valve is sold separately.

Note: Recommended Operating Air Pressure 01~0.2MPa. Air Sensor: ISA2-HE45N(SMC)
X4. The valve of CLHW-040 is protruded as shown in the drawing.

053 | PNEUMATIC & HYDRAULIC CLAMPS | 054



055 |

Unit:mm

MACHINING DIMENSIONS OF MOUNTING AREA vopeL mem CLHW-  CLHW-  CLHW-  CLHW-  CLHW-
040CCOE 048CCIE 055CCIE  065CCOE  075CCIE
Nx A 115 128.5 145.5 156 181
Unclamp Port &P B 54 61 69 81 92
Air Vent Port @P l I c 45 51 60 70 80
\ D 40 48 55 65 75
> \Ai\ Da 40.8 49 56 66 76
- P E 715 79 89 94 109
= & F 46.5 51 59 63 71
v Fu 68.5 775 86.5 93 110
ICamblEoiicEn f& G 25 28 30 31 38
oK H 31.5 355 39 46 52
4-EA Thread J 225 25.5 30 35 40
K 34 40 47 55 63
Seilbinalice L 73 83 88 106 116
30° . oFAT8 Clamp Confirmation Air Port M 11 13 12 13 16
Remove all burr - 04~06 Nx 26 30 335 395 45
N N Ny 9 11 12 15 16
N H i n P 3 3 3 5 5
o H | ~
o B of | o Y '7—15 i Q 9 9 11 11 14
&~ SNENS L - g R 5.5 5.5 6.8 6.8 9
=) ! 04U | v s 15 175 17 17 21
30y I’ = T 16.5 175 205 22 26
i U 18 22 25 30 B515!
oFC \") 15 18 21 24 30
Unclamp Confirmation w 12 14 15 16 16
Air Port X M16x1.5 M20x1.5 M22x15 M27x1.5 M30x1.5
Q4~D6 Y 6 8 8 10 10
For Through Hole 3 a3 c3 a3 C4 (&
30° oo Conirmat AA 24 30 32 41 46
f~— H8 amp Confirmation
Remove all burrs QFA Air Port AB 8 9 10 1 1
\ D FF Q4~06 AC 26.5 33 35.5 45 50
S | “ : j = BA 16 19 22 25 31
| F co’ U orB )ai= i i ,% BB 20 25 28 34 40
Hl = 300 [ 2 CA 7 9 10 125 14
o °°i N g CB 6.5 75 95 115 125
T = cC 4 5 6 6 8
ﬁ EA M5x0.8  M5x0. 8 M6 M6 M8
Unclamp Confirmation FA 40,8700 49+00¢ 5600 66700 767004
Air Port — u u J g
04~06 FB 414 496 56.6 66.6 76.6
FC 40.5 485 55.5 65.5 75.5
Remove all burrs FD 1.2 1.2 15 15 15
Do not cover the 30° taper area of FE 47 51.5 59.5 63.5 71.5
the air supply ports JA 4 4 4 45 45
JB 14 14 14 19 19
petal of e ———— G1/8  G1/8  GI/8  Gl/A  Gl/4
NOTE
XEA tapping depth the mounting bolt should be decided DA 1BP5 18P5 18P5 18P7 18P7
according to the mounting height referring to dimension”S". o.fin DB AS568-007(%90°)  1BPS 1BP5 1BP7 1BP7
° bc 3815 AS568-031(70°) AS568-034(70°) AS568-037(70°) AS568-040(70°)
DD 3815  AS568-031(70°) AS568-033(70°) AS568-036(70°) AS568-040(70°)
SPECIFICATIONS
CLAMPING FORCE CLAMPING CLAMPING TOTAL ~ CYLINDER CAPACITY CYLINDER CAPACITY EFFPISTON AREA EFFPISTON AREA RANGE OF
MODEL 770 kgf/cm®  STROKE (mm)  STROKE (mm) STROKE(mm) CLAMP(cm) UNCLAMP(crv)  CLAMP(cm)  UNCLAMP(cm?)  TEMPERATURE(C)
CLHW-040 350 6.5 8 14.5 10.9 73 7.54 5.0 0-+70°C
CLHW-048 486.5 7.5 8 15.5 16.7 10.8 10.75 6.95 0-+70°C
CLHW-055 721 85 10 18.5 28.1 19 15.2 10.3 0-+70°C
CLHW-065 938 10 10 20 409 26.7 20.42 134 0-+70°C
CLHW-075 1421 12 12 24 72.5 48.7 30.18 20.3 0-+70°C

CLAMP CONFIRMATION ONLY

The drawing shows the clamped state of CLHW-CRH

JA B
Unclamp Port: G Thread H J
(Speed Control Valve Port) (Hex.Sockst Y) 2.7
\¢
_| fh\\ f% (R Type)
T N &
8 IBF N \.2
vl E@,L <; So —<|— Swing Direction
YR -
s @D \* %ﬁ (L Type)
3 4-OR
g (Spot Facing ®Q)

P8.6%4
2-G Thread Plug(Included)
Clamp Port: G Thread

(Speed Control Valve Port)

CC % Slot for Lever Phasing
R Type (L Type:180 Reverse)

PAC
Nut(Included) m
Wi o
z| o \ I |\/| <t
= == =
S5 sl [ ]| -
> 2 Taper Sleeve(included) I ! )
= |
=1
= i
{
P
< o [r ~
4

5.5%4

Air Port for "
w Clamp Confirmation ~ / ‘

‘ O-Ring (Included)DC

O-Ring (Included)DD

Clamp Port
O-Ring(Included)DA
Nx
Air Vent Port: O-Ring(Included)DB —
A\ &
N : ’
N
>
SN
> &/
z }/\)
Unclamp Port “ T/E )/\
O-Ring(Included)DA T

X1. The slot for lever phasing faces the port side when clamped.
X2 Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension”S”.

%3. Speed control valve is sold separately.

*4. The valve of CLHW-040 is protruded as shown in the drawing.

PNEUMATIC & HYDRAULIC CLAMPS | 056



Unit:mm

MACHINING DIMENSIONS OF MOUNTING AREA MODEL mem  CLHW- CLHW- CLHW-  CLHW-  CLHW-
040CCIH 048CCOH  055CCIH  065CCIH  075CCIH
A 115 1285 1455 156 181
B 54 61 69 81 92
c 45 51 60 70 80
Nx D 40 48 55 65 75
Unclamp Port &P E 715 79 89 9 109
F 465 51 59 63 71
Air Vent Port OP \ Fu 685 775 865 93 110
\ G 25 28 30 31 38
> \ H 315 355 39 46 52
Y J 225 255 30 35 40
= N K 34 40 47 55 63
/"“ L 73 83 88 106 116
Clamp Port P ﬁ M 11 13 12 13 16
- Nx 26 30 335 395 45
oK Ny 9 11 12 15 16
4-EA Thread P 3 3 3 5 5
Q 9 9 11 11 14
R 55 55 6.8 6.8 9
S 15 17.5 17 17 21
T 16.5 17.5 205 22 26
U 18 22 25 30 35.5
v 15 18 21 24 30
300 OEB -(?.1 Clamp Confirmation Air Port w 12 14 15 16 16
cemove ol burrs/< ©0 / 04~06 X M16x1.5 M20x1.5 M22x1.5 M27x1.5 M30x1.5
Remove afl bu ! ‘ 25 Y 6 8 8 10 10
H i i N z c3 c3 c3 c4 c5
I Remove all burrs x| i L; AA 24 30 32 41 46
nE £ AB 8 9 10 11 11
M30r g AC 265 33 355 45 50
04 = BA 16 19 22 25 31
BB 20 25 28 34 40
- CA 7 9 10 125 14
QEC cB 65 75 95 115 125
cc 4 5 6 6 8
EA M5x0.8  M5x0.8 M6 M6 M8
EB 408 49 56 66 76
EC 40 +%04 48*%04 5 5+%_04 65+%o4 75+%_04
ED 12 1.2 15 15 15
For Through H0|e EE 20 20 24 24 34
) EF 47 515 59.5 63.5 715
30 = @EB& Clamp Confirmation Air Port EG 26 26 30 30 40
Remove all bur{< ED 04~06 JA 4 4 3.5 45 45
N\ = 25 JB 14 14 14 19 19
H | ! JmphoTved  Gi/8 GI/8 GI/8 G4 Gl/4
Remove all burrs {>)<Z (W] u:"
E—— g DA 1BPS 1BP5 1BP5 1BP7 1BP7
300 i . g DB  AS68-00700°  1BPS 1BP5 1BP7 18P7
| 0. = ORng  DC  38x15  AS568-031(70°) ASS568-034(7T0°) AS568-037(70°) ASS68-040(70F)
i " DD  AS568-028(70°) AS568-031(70°) ASS68-033(70%) AS568-036(70) AS568-039(70°)
QEC

NOTE

X1. EA tapping depth of the mounting bolt should be decided
according to the mounting height referring to dimension”S".
2. Provide the air port for clamp confirmation within the part 4.

057 |

UNCLAMP CONFIRMATION ONLY

The drawing shows the unclamped state of CLHW-CRJ

Unclamp Port: G Thread B
(Speed Control Valve Port) JA H J
<
®8.6%4 ~ 2.7
o
‘ | v —
(A (AN (R Type)
T N
RS2
s AN . R
vl T g; —%|—— Swing Direction
Lz =
*Z/é) §“ (L Type)
4-OR
(Hex.Socm .
2-G Thread Plug(included) (Spot Facing ®Q)
Clamp Port: G Thread ®CC 50'05 Slot for Lever Phasing
(Speed Control Valve Port) R Type (L Type:180°Reverse)
OAC
Nut(Included) (X Thread)
NI Q
s o nZEl
= T
i s s
> ,‘_% Taper Sleeve(Included) i i
>
- g
(N - o
O 1 gl I &
< s LL"//:‘: ! ;‘ X &
K 1| | I =
: |

Air Port for S
T Unclamp Confirmation / ‘

O-Ring (Included)DC

O-Ring (Included)DD

®D 53
Clamp Port
O-Ring (Included)DA
Nx
Air Vent Port: O-Ring (Included)DB —
A\ B> D)
N : ’
N\
>
S
- -\
z }/\)
Unclamp Port “ T/E )/\
O-Ring (Included)DA 1

NOTE

X1. The slot for lever phasing faces the port side when clamped.
X2 Mounting bolts are not provided. Please prepare them
according to the mounting height referring to dimension”S”.

%3. Speed control valve is sold separately.

*4. The valve of CLHW-040 is protruded as shown in the drawing.

PNEUMATIC & HYDRAULIC CLAMPS |



Unit:mm

MACHINING DIMENSIONS OF MOUNTING AREA MODEL ITem ~ CLHW- CLHW- - CLHW- CLHW-  CLHW-
040CC)  048CCH)  055CC)  065CC)  075CCH
A 115 1285 1455 156 181
B 54 61 69 81 92
C 45 51 60 70 80
Nx D 40 48 55 65 75
Unclamp Port 0P E 715 79 89 9 109
. F 465 51 59 63 71
Air Vent Port @P \ Fu 68.5 775 86.5 93 110
' G 25 28 30 31 38
> \ H 315 355 39 46 52
Y J 225 255 30 35 40
= " K 34 40 47 55 63
/‘V L 73 83 88 106 116
Clamp Port @P f M 11 13 12 13 16
E— Nx 26 30 335 395 45
oK Ny 9 11 12 15 16
4-EA Thread P 3 3 3 5 5
Q 9 9 11 11 14
R 55 55 6.8 6.8 9
S 15 175 17 17 21
T 165 175 205 22 26
U 18 22 25 30 35.5
e v 15 18 21 24 30
30° . gEB.$ Undamp Confimation w 12 14 15 16 16
Remove all burrs/< ED / D4~D06 X M16x1.5 M20x1.5 M22x1.5 M27x1.5 M30x1.5
TNl [ 25 Y 6 8 8 10 10
H i o N y4 c3 c3 c3 c4 cs5
I Remove all burrs X o u:; AA 24 30 32 4 46
R 2 AB 8 9 10 11 11
P o AC 26.5 33 355 45 50
04 = BA 16 19 2 25 31
BB 20 25 28 34 40
- CA 7 9 10 125 14
QEC CB 65 75 95 115 125
cc 4 5 6 6 8
EA M5x0.8 M5x08 M6 M6 M8
EB 40.8 49 56 66 76
EC 40+%04 48*%04 55+%.04 65*%04 75+%04
ED 1.2 12 15 15 15
For Through HOle EE 20 20 24 24 34
EF 47 515 59.5 63.5 715
300 - @EB -81 Unclam%i(r:cl))rg)fritrmation EG 26 26 30 30 40
Remove all burrs /< ED D4~06 JA 4 4 4 45 45
., 1204 25 JB 14 14 14 19 19
il | ] i ot e
i renoeatbars a2 Bl umprncTves  G1/8 GI8 GIB GIA G/
—I/' X §
N300 o DA 1BPS 1BPS 1BPS 18P7 18P7
| 04 2 o DB ASSE0TI0) 18P 1BP5 1BP7 1BP7
i 9 DC 35 ASS68-031(T0%) ASS68-034(70%) ASS68-037(70%) ASS68-040(T0Y)
GECHS DD  AS568-028(70°) AS568-031(70°) AS568-033(70°) AS568-036(70) AS568-039(70°)
NOTE

X1. EA tapping depth of the mounting bolt should be decided
according to the mounting height referring to dimensions”S".
2. Provide the air port for unclamp confirmation within the part .

059 |




